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1. The snowfall in Year 1 was 2.03 meters. The snowfall in Year 2 was 1.6 meters. How many total meters
of snow fell in Years 1 and 2?
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2. Adelisliced 22.6 kilograms of roast beef one week and 13.54 kilograms the next. How many total
kilograms of roast beef did the deli slice in the two weeks?
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3. The school cafeteria served 125.6 liters of milk on Monday and 5.34 more liters of milk on Tuesday than
on Monday. How many total liters of milk were served on Monday and Tuesday?
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4. Max, Maria, and Armen were a team in a relay race. Max ran his part in 17.3 seconds. Maria was 0.7

seconds slower than Max. Armen was 1.5 seconds slower than Maria. What was the total time for the
team?
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